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1. 19
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The greatest natural number that satisfies this inequality is 
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2. Sphere
It’s the definition

3. 336
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4. 
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Since the sides are in a ratio 3:5, we can calculate each side length:
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 implies that the side lengths are 2(3)=6 and2(5)=10. The diagonal of 




the rectangle is 
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5. 
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6. Modus Tollens (MT is acceptable)

7. C

8. 27

The third side length, c, can be found by the inequality 
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, but since c has to be an integer, c=13 for max perimeter of 13+8+6=27.
9. 150°
A dodecagon has 12 sides: 
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10. 44

An undecagon has 11 sides: 
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11. 
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12.  
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13. 
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 The area of the annulus is 
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14. 
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Take a point on one line, say (0,-1) on line two. The general form of line one is 
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. Using the formula for distance between a point and a line, 
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15. 95°
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16. 
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17. 103o and 47o
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18. 6
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19. 7
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20. -9
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21. 
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Using similar triangles:V
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22. 24

Using the Euler Characteristic, 
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23. 
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24. 
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25. 
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There are 33=27 possibilities of triplets. However, in order for the sides to be a triangle, they must satisfy the triangle-side inequality (a+b>c).  By inspection, {1,1,2}, {1,1,3}, and {1,2,3} do NOT satisfy the inequality. For {1,1,2}, there are 3 different combinations, since the 2 can go in any location. Same for the triplet {1,1,3}. For {1,2,3}, since each number is different, there are 3!=6 combinations. Thus, the probability is (3+3+6)/27=12/27=4/9
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